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454+32= (40+5) + (30+2)
=40+ (5+30) +2
=40+ (30+5) +2
=70+7=77

97—45=90+7— (40+5)
—90+7—-40-5
—90—-40+7-5
=50+2=52
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3.46 is nearer to 3.6 than to 3.2, _ %
M SR s @

/B 7T So,3.46 + 4~
@ s528+6

-10f%. 1004, 1/10, e e
1 / 1 OO&L \j‘/’:% i 5.28 is nearer to 5.4 than to 4.8,

54+6=

%y So,528 + 6=
7 1.

@ Calculate. Then check if your answer is reasonable by estimation.
fr : 1242 + $12.64 1.45 — $0.54
?ﬁ 0) = : N J 7 o $ $ Q $ $
— A7 a ® s179x3 O s145+5

/}-L = Hﬂﬁ"h Get your child to use estimation to check if his answer is reasonable. He can do so using mental
z il Maths  calculation. For example,0.28 + 5~03 + 5 WE 48, b 59
x - | = 30 hundredths + 5 P " 7

= 6 hundredths = 0.06

O 047x4
. g ﬁ 0.47 is 0.5 when rounded off to the nearest tenth.
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1 1
1) +—HBEE (2) (3)
2 8.5 8 7 2% 8.5 8 7 238587
S+ 00697 N + 0.0697 5 + 00697
2 3.5 2 3.5.4 2 3. 546
6 6 5
(4) +—8IFEE
2 8.58 7
+ 0.0697 exact 23.6567
2 3.5. %6 7 approximate 2/ TT YA 28 .64
6 5
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- 08.76 N - 9876 . — 9856
5 LN 556
4 4 8
4) §—&a
10 10 3 910

K _B\;‘z\‘;: ex. 485.56 4 O 3 & O 3
4 8 5.5 ap. (3T HYI L 486 . — 2 3 8 — 2 3 8
g X 5 165

#3
1) +—HFE=E (2)
436002 483.6002
- 0.80009 = — 0.80089 ex. 4 7.79 0 3
48800 4 8.8-6-6 3
TTH49
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—12,830X1083
52,000X250,000
—1,283X104X
—H52X103X25X104
—H2X25X103X 104
—1300X103*4
—13X102X107 =13X10°

AO (FAN) #HE 1,414, RE 2578, Kk 8838
1,414 X103+2,578X103+8,838X103
= (1,414+2,578+8838) X103

52000
X 250000

260
104 |

13000000000




